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Date: ___________ Period: ___

Factoring and Zero Product Property

	Greatest Common Factor
	___________________________________________________________________

___________________________________________________________________

	
	
	
	

	Example #1:


	What is the GCF of:
	a) 20 and 15?


	b) 4x2 and 18x3?



	Example #2:
	What is the GCF of the terms in 2x2 + 10x?  


	____________

____________
	may help. 
	
	

	
	
	
	

	Practice:


	a) x2 + 7x


	b) 3x2 – 6x

	c)  –10x2 – 15


	Factoring Trinomials
	If you are factoring a trinomial (3 terms) with an x2, use a ______________________ and rewrite the expression in factored form.

	Rule:


	
	Example: x2 – 7x – 18
	

	Practice: 
	a) x2 + 9x + 8


	b) x2 – 2x – 8



	
	c) x2 + x – 20


	d) x2 + 7x – 9



	Extended Factoring
	If you are factoring a polynomial when x2 has a coefficient other than 1, you will need to use both a _______________________ and a ________________________.

	Rule:


	ax2 + bx + c
	Example #1: 2x2 – 5x – 12


	Example #1: 2x2 + 7x + 3



	Practice: 


	a) 2x2 – 3x – 5 
	b) 6x2 + x – 2

	Difference of Squares
	A ___________________________ (TWO TERMS) that has a _________________ for both terms with a ______________ sign in between them can be factored quickly.

	
	
	
	

	Rule: 


	_________________________________________

	Examples: 


	a) x2 – 4
	b) x2 – y2
	c) 9x2 – 49   

	Zero Product Property


	_____________________________________________________________________

	
	Steps:
	Example: x2 – 7x  = –10

	
	· ________________________________
	

	
	· ________________________________
	

	
	· ________________________________
	

	
	· ________________________________
	


Practice: Show all your work and reasoning.  Use a pencil and highlight your answers.
	1.  FACTOR each polynomial using a diamond problem and/or a generic rectangle.

	a)  x2 + 4x – 5



	b)  2x2 – x – 6
	c)  x2 –  x – 12

	d)  x2 – 36



	e)  3x2 + 16x + 5
	f)  6x2 – 11x – 2

	g)  x2 – 15x + 56



	h)  x2 + 14x + 49
	i)  4x2 + 11x + 6

	j)  x2 + 8x – 48



	k)  x2 – 14x + 45
	l)  x2 + 2x – 80

	m)  3x2 + 5x – 12



	n)  8x2 – 2x – 3
	o)  5x2 + 22x + 8

	2.  Use the Zero Product Property to SOLVE each equation.  Be sure to factor using the GCF, diamond problems, and/or generic rectangles.  

	a)  x2 – 6x – 16 = 0

	b)  x2 – 3x – 18 = 0
	c)  x2 + 3x = 28

	d)  (2x + 3)(x – 1) = 0


	e)  x2 – 49 = 0

	f)  3x2 – 5x – 2 = 0

	g)  4x2 – 15 = –7x


	h)  3x2 – 15x  = 0
	i)  x2 – 6x + 9 = 0


	j)  2x2 – x – 6 = 0


	k)  4x = 5 – x2
	l)  5x – 3 = –2x2


	3.  Use either the substitution or elimination method to solve each system of equations.  Be sure to write your answers in the form (x, y).  (Remember, you are finding the point of intersection.)
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	4.  Find the x –and y–intercepts for each equation.

	a)  5x – 6y = 60


	b)  9x – 4y = –72
	c)  –8x + 3y = 5
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